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E=mc’=mc’+E,
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m,C >
=mc +E 2 2
A vz ° k ymc =myc”+E,
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_14 Ex 200
V= +mc2 y=1+—=1+0.391=1.391
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L is the total angular momentum
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E =hv=6.62x10*J s x4.4x10" sec™" = 2.9x107" joule
hv=6.62x10"*J.s x10”sec ™" =6.6x10"" joule

T, =hv—E, =6.6x107° —2.9x10™ = 2.3V
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hvic sind Energy hv

momentum = hv/c
E=hy b
S NN
p=vic a E = Jymict + pc’
rest _
Y P=F
P sing
T, =hv-ho' (1)
_ho
c (2)
E:h—ucos.gﬁ+pcos¢9 (3)
C C
pc cosd =hv—ho'cos¢ (4)
cU sing=psind = pcsind=ho'sing (5)
e Jianilegaan s (5) 5 (4) oatlbad) g i
pZc? = (hv)? —2(hv)(hv) cos g+ (hv')? (6)

A 5Kl 48U 4 A8 al) d8Ual) = K A8 ) o slaall (e

E = mOC2 +T, (7)
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E :\/m(fc“+p(fc2 (8)

(m,c’+T,)> =m’c*+pZc?

mc* +2m . cT, +T > =mZc* + pZc?
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T, =hvo—-ho'
Te2 =(h 0)2 —2(hv)(ho") +(h u’)2 (10)
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p:c2 = (hu)2 —2(hv)(ho") + (hu’)2 +2m0c2 (hu—hu’) (11)
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(hv)* —2(hv)(hv')cos g+ (ho')* = (hv)? —2(hv)(hv")
+(hv')? +2mocz(hu—hu’)

2m002 (hu— hu’) =2(hv)(hv")(1-cos @) (12)
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mc(ov o) v
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m,C
A=c/v  h Sedaadlly [/ Jins
1 1 1
—— = 1-cos
ho' ho mc? ( 2
~ho'= n ho .
1+ 02 (1—cosg) (16)
m,C
ho
Let “:m c? ho!  =hv=cos¢g=1<¢=0
, ho
hog, = 1+ 20 when $=180°
T —hoe— W g _p, 2U=C0SP)
1+ a(1—cos @) 1+ a(1—cosg)

05558l Al 2 ol (ia sS 5 Al Clian g hadus cul b 5 S () a3 A8l il () 5558 \Jle
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E} =hv/=—— ho = 33 = 0.437MeV
1+ 1-cos 1+—@1-0
m,c’ ( 2 0.511( )

T, =hu—ho'=3-0.437 = 2.503MeV
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Q =-/e =—¢ (1)

Z is atomic number, Q is the total charge
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